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All answers should be written on the ANSWER SHEET.
Section A — each question carries 4 marks

1) Find the perimeter of the figure below (in cm).

6cm

v

3cm

8em 3cm

3cm

2) 313 boy scouts are divided into groups and each group has at most 7 scouts. At least how many groups
can be divided this way?

3) Find the value of 480+4+480+6+480+10.
4)  Find the 21% term of the arithmetic sequence 27 ~ 35~ 43 ~ 51 ~ ...
5) The difference between A and B is 24. A is 9 times of B. Find the value of A.

6) There are a total of 30 chickens and rabbits in a farm. The animals have a total of 86 legs. What is the
difference between the number the chickens and the rabbits?

7) There are 7 pairs of green socks, 6 pairs of white socks, 5 pairs of red socks and 2 pairs of blue socks in a
wardrobe. One person is asked to close his eyes, and draw the socks 1 pair at a time. At least how many
pairs of socks should be drawn so that among the drawn socks 4 pairs of those have the same colour?

8) Ifa5-digit number 81A75 s divisible by 11, find the value of A.

~ End of section A ~
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Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.



All answers should be written on the ANSWER SHEET.
Section B — each question carries 5 marks

9) When a five-digit number 279A5 is divided by 9, the remainder is 4. Find the value of A.

10) Find the value of 12x22+13x24+17x36.

11) The amount of Amy’s pocket money each day is 3 times as much as the pocket money of Flora’s. And
the amount of Pearl’s pocket money is $7 more than Amy’s. If they have $980 of pocket money each
week, how much pocket money does Pearl have each day?

12) Each of the numbers from 1 to 10 are filled in the circles in the figure so that the sum of each side of the
pentagon is 14. What number should be filled in the circle with an A?
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13) 10 people takes 5 days to complete one-fourth of a task. How many days are needed for 8 people to finish
the same task?

14) Charles has $40 in the bank at the beginning. Starting from 1% February, Charles’ mother will give
Charles pocket money equal to the amount of money in the bank, and Charles saves $5 every day in the
bank. Until the night of the 16" of February, how much (in $) did Charles’ mother gave Charles?

15) Numbers are drawn from the 60 integers 1 to 60. At least how many numbers are drawn at random to
ensure that there are two numbers whose difference is 10?

16) A 200-digit number is in the form of ‘393939...°. The product of digits of the number is calculated, find
the unit digit of the product.

~ End of section B ~
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All answers should be written on the ANSWER SHEET.

Section C — each question carries 7 marks

17) The figure is formed by 2 squares. Find the area of the shaded region
(Hint: Consider the relationship between the area of triangle and the area of rectangle)
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18) If ABCD is a 4-digit number divisible by 8 and both ABC and DCB are divisible by 8. Find the
smallest possible value of ABCD.

19) There are some chicken and rabbits. The animals have 304 legs in total.
If we count the number of legs using the number of chicken as the number of rabbit, and using the

number of rabbit as the number of chicken, there are 338 legs instead.
How many chickens are there?

20) When a five-digit number is divided by 33, the remainder is 11. Find the largest possible value of the
number.

~ End of Paper ~
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Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.



